

## AMENDMENT FOR CONTRACT RENEWAL

This contract, made and entered into by The County of DuPage, 421 North County Farm Road, Wheaton, Illinois, 60187, hereinafter called the "COUNTY" and Groot Industries Inc. located at 1330 Gasket Drive, Elgin, IL 60120, hereinafter called the "CONTRACTOR", witnesseth;

The COUNTY and the CONTRACTOR have previously entered into a Contract, pursuant to Bid 22-026 which became effective on 6/1/2022 and which will expire 5/31/2024. The contract is subject to a first of three options to renew for a twelve (12) month period.

The parties now agree to renew said agreement, upon the same terms as previously agreed to including a one-time price adjustment of two percent (2%), as specified in the original contract.

The contract renewal shall be effective on the date of last signature, and shall terminate on 5/31/2025.

CONTRACTOR	THE COUNTY OF DUPAGE		
Signature on File			
SIGNATURE	SIGNATURE		
PRINTED NAME	Henry Kocker PRINTED NAME		
ALCOUNT REP	Buyer I		
PRINTED TITLE	PRINTED TITLE		
3/14/24			
DATE	DATE		

DUPAGE COUNTY DEPARTMENT	GROUP NUMBER -TYPE OF SERVICE	ADDRESS	CONTAINER DESCRIPTION	PICK-UP SCHEDULE	PRICE MONTHLY CHARGE OR COST PER UNIT "AS NEEDED" PICK-UP	QUANTITY 24 MONTHS OR ESTIMATED NUMBER OF "AS NEEDED" PICK-UPS	EXTENDED PRICE SERVICE COST FOR 2 YEARS (PRICE x QUANTITY)	
GROUP 1 - SCHEDULED TRASH PICK-UPS								
#3 - DIVISION OF TRANSPORTATION	Highway Garage	140 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226.16	
	Highway Garage	180 N. County Farm Rd	(1) 2 Cubic Yard Trash	Tuesday, Friday	\$ 51.09	24	\$ 1,226.16	
	GROUP 2 - ESTIMATED ON CALL PICK-UPS							
	Highway Garage	140 N. County Farm Rd	(1) 20 Cubic Yard Roll-Off	On Call "as needed"	\$ 305.00	52	\$ 15,860.00	
	Highway Garage	140 N. County Farm Rd	(1) 30 Cubic Yard Roll-Off at Salt Dome	On Call "as needed"	\$ 305.00	52	\$ 15,860.00	
	GROUP 4 - SCHEDULED RECYCLED PICK-UPS							
	Highway Garage	140 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Weekly	\$ 35.00	24	\$ 840.00	
	Highway Garage	180 N. County Farm Rd	(1) 2 Cubic Yard Co-Mingled Recycling	Weekly	\$ 35.00	24	\$ 840.00	
TOTAL #3 DIVISION OF TRANSPORTATION \$							\$ 35,852.32	
#10 - DUDOT Trail System	GROUP 8 - SCHEDULED TRASH PICK-UPS (19) Nineteen trail containers located along the specified trail system.							
	Contractor is responsible for providing and replacing can liners, pickup, transportation and disposal service at all of the locations.	SEE MAP -	Containers are approximately 40-50 gallons in size.	Weekly	\$ 5.54	1,976	\$ 10,947.04	
TOTAL #10 - DUDOT Trail System \$							\$ 10,947.04	

## **SECTION 8 - BID FORM SIGNATURE PAGE**

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

Signature on File-	
DISTRICT MANAGER (Signature and Title)	
(-ightais and has)	
	CORPORATE SEAL (If available)
BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR	CONSIDERATION
Subscribed and sworn to before me this 12TH day of ARRIC	AD, 20 <u>27</u>
ignature on File_My Commission Expires:	117123
Official Seal Mary Josephine O'Connor Notary Public State of Illinois My Commission Expires 09/17/2023 SEAL	***** <u>*</u>

Further, the Bidder certifies that he has provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

## CONTRACT ADMINISTRATION INFORMATION:

CORRESPON	DENCE TO CONTRACTOR:	REMIT TO CO	NTRACTOR:		
NAME	TES VANSEZ MAALD	NAME	MARY O'CONNOR		
CONTACT	The last the state of the state	CONTACT	BillingMANAGER		
ADDRESS	1330 GASKET 26	ADDRESS	1330 FASKET DR.		
CITY ST ZIP	ELGIN 14 60120	CITY ST ZIP	ELIN IL GOLD		
TX	847/774-1878	TX	847-841-5306		
FX	5.77 777 1075	FX			
EMAIL	TVANDER NAALD Q	EMAIL	MARYO & GROOT, com		
	GROOT. COM				
COUNTY BILL	TO INFORMATION:	COUNTY SHIP	TO INFORMATION:		
DuPage County	y Facilities Management	DuPage County Facilities Management			
421 North Cour	nty Farm Road	Various Location	ons		
Wheaton, IL 60	187	TEL: (630) 407	7-5700		
TEL: (630) 407	-5700	3000. 10			
EMAIL: FMAcc	ountsPayable@dupageco.org				
DuPage County	y Animal Services	DuPage County Animal Services			
Attn: Accounts Payable		120 N. County Farm Road			
120 N. County Farm Road		Wheaton, IL 60187			
Wheaton, IL 60187		(630) 407-2800			
(630) 407-2800	0				
DuPage Care C	Center	DuPage Care Center			
Nancy Palima		400 N. County Farm Road			
400 N. County	Farm Road	Wheaton, IL 60187			
Wheaton, IL 60	187				
DuPage County	Division of Transportation	DuPage Count	y Division of Transportation		
Attn: Kathy Curcio		140 & 180 N. County Farm Road			
180 N. County Farm Road		Wheaton, IL 60187			
Wheaton, IL 60	187				
Health Department/Community Center		Health Department/Community Center			
Accounts Payable		111 & 115 N. County Farm Road			
111 N. County	Farm Road	Wheaton, IL 60187			
Wheaton, IL 60	187				